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1. Who launched the Sagar Parikrama Yatra Phase-V in Maharashtra?

a. Parshottam Rupala
b. Narendra Modi

¢. Droupadi Murmu
d. Ashok Gehlot

Answer. a

2. Which state became the first state to formseparate government department for the divyang?

a. Uttarakhand
b. Maharashtra
c. Uttar Pradesh
d. Assam

Answer. b

3. India’s 1st Double-decker Electric Bus Switch EiV 22 was launched in:

a. Pune

b. Mumbai
¢. Nagpur
d. Amravati

Answer. b

4. Terrorist group Hamas has launched Operation Al-Aqsa Storm against which country?

a. Iran
b. Iraq
c. India
d. Israel

Answer. d

5. India won 100th medal in Asian Games in which sport?

a. Women's Cricket

b. Women's Kabbadi



¢. Women's Badminton
d. Women's Hockey

Answer. b

6. How long is the Hindu Heart Samrat Balasaheb Thackeray Samriddhi Highway?

a.715 Km
b. 711 Km
¢. 701 Km
d. 731 Km

Answer. ¢

7. Under Mahila Samman Yojana how much concession has been declared for women on state-run buses in Maharashtra?

a.0.25
b. 0.15
c. 0.35
d. 0.5

Answer. d

8. Which day is celebrated as Maharashtra Day?

a. 1st May
b. 1st June
c. st July

d. Ist April

Answer. a

9. Marathi Language Day is celebrated on:

a. 15th April

b. 27th February
¢. 30th January
d. 26th March

Answer. b

10. The second spaceport of Indian Space Research Organisation is to be set up in:

a. Chattisgarh
b. Assam

¢. Tamil Nadu
d. Karnataka

Answer. ¢



11. Perseverance rover has recently captured ‘Dust devil® in which planet?

a. Jupiter
b. Mars
¢. Venus
d. Saturn

Answer. b

12. The Nobel Prize in Economics for 2023 has been awarded to:

a. Ragnar Frisch

b. Simon Kuznets
¢. Claudia Goldin
d. Wassily Leontief

Answer. ¢

13. Arya Samaj founded by whom in Mumbai?

a. Dayananda Saraswati
b. Jyoti barao Phule

¢. Rabindranath Tagore
d. Sarojini Naidu

Answer. a

14. On 3rd February an all-India hartal strike was organised by the Anti-Simon Agitation Commission under the slogan "Simon Go Back". It was held in:

a. Kanpur
b. Delhi

¢. Mumbai
d. Varanasi

Answer. ¢

15. Which of the following city became an important center for satyagraha in Maharashtra during Civil Disobedience Movement ?

a. Pune

b. Nasik
¢. Nagpur
d. Solapur

Answer. d

16. Bilashi Forest Satyagraha took place in Maharashtra in the year:

a. 1930

b. 1949



c. 1922
d. 1915

Answer. a

17. The Poona Pact of 1932 was signed by:

a. Dr BR Ambedkar
b. Bhagat Singh

¢. Jawaharlal Nehru
d. Rajendra Prasad

Answer. a

18. Flag Satyagraha was held in which of the following city?

a. Kanpur
b. Nagpur
¢. Gorakhpur
d. Bardoli

Answer. b

19. The Bombay Chronicle newspaper was started by:

a. Sardar Ajit Sinh

b. Annie Besant

c. Pherozeshah Mehta
d. Aurobindo Ghose

Answer. ¢

20. Who established the Abhinava Bharata in Nashik?

a. Vinayak Damodar Savarkar
b. Pramath Nath Mitra

¢. Ajit Singh

d. Bhagat Singh

Answer. a

21. Who started an underground radio in Bombay?

a. Usha Mehta

b. Chittaranjan Das
¢. Mahatma Gandhi
d. Premkumar Sehgal

Answer. a



22. According to Cabinet Mission Plan ,Bombay was included in which section?

a. Section A
b. Section B
¢. Section C
d. Section D

Answer. a

23. Harappa was first discovered by:

a. Amlanand Ghose
b. NG Majumdar

¢. RD Banerjee

d. Daya Ram Sahni

Answer. d

24. The study of inscriptions is called:

a. Palacography
b. Epigraphy
¢. Numismatics
d. Inscription

Answer. b

25. How many districts are there in Maharashtra?

a.23
b. 36
c. 32
d. 42

Answer. b

26. How many Parliamentary Constituencies are there in Maharashtra?

a.33

Answer. ¢

27. Napur City is also known as:

a. Mango City of India

b. Orange Cityy of India



c¢. Banana City of India
d. Apple City of India

Answer. b

28. Area wise which of the following is the largest district of Maharashtra ?

a. Pune

b. Ahmadnagar
¢. Nashik

d. Solapur

Answer. b

29. The river Koyna joins the river Krishna at which place?

a. Satara

b. Kolhapur

¢. Karad

d. Mahabaleshwar

Answer. ¢

30. Which of the following is the longest tributary of Godavari river?

a. Banganaga

b. Kadva

¢. Kadam

d. Pranahita (G-9)

Answer. d

31. Lonar Lake of Maharashtra was created by which of the following?

a. Glacier

b. Meteorite
¢. Volacno

d. Earthquake

Answer. b

32. In which of the following districts Karla Buddha Caves is located?

a. Jalgaon
b. Solapur
¢. Nagur
d. Pune

Answer. d



33. One of the largest Chalcolithic settlements in Maharashtra is :

a. Inamgaon

b. Mahabaleshwar
c. Lonavla

d. Alibag

Answer. a

34. Which state of India is leading in Solar Energy generation?

a. Assam
b. Gujarat
¢. Rajasthan
d. Kerela

Answer. ¢

35. Which of the following national parks is situated near Chamoli?

a. Dudhwa National Park

b. Manas National Park

c. Jim Corbett National Park
d. Nanda Devi National Park

Answer. d

36. India is the largest producer of :

a. Cotton
b. Jute
¢. Rice
d. Tea

Answer. b

37. The institution of Lokayukta was first created in Maharashtra in the year:

a. 1960
b. 1999
c. 1971
d. 1947

Answer. ¢

38. When was President's Rule imposed on Maharashtra for the first time?

a. 1974

b. 1980



c. 1995
d. 1989

Answer. b

39. How many non permanent members does UN Security Council have?

a. 8

Answer. ¢

40. Who was the first woman Chief Justice of Bombay High Court?

a. Revati Mohite Dere

b. PD Naik

¢. SV Kotwal

d. SujataVasant Manohar

Answer. d

41. Who is the current Director General of Police in Maharashtra?

a. Rajnish Seth

b. Sanjay Pandey
c. Satish Mathur
d. Hemant Nagarle

Answer. a

42. What is the qualification for teacher memebers in the Maharashtra Vidhan Parishad?

a. Must reside in Maharashtra for 7 years.

b. Age must be 45 or above

¢. Must be a citizen of India, enrolled voter and mentally stable
d. Must have served in Indian Army for 5 years

Answer. ¢

43. How many Zilla Parishad are there in Maharashtra?

a. 32

Answer. ¢



44. Which article gives information about the Chairman of the State Legislative Council?

a. Article 155
b. Article 182
c. Article 130
d. Article 100

Answer. b

45. Which article includes provisions for the Inter-State Council?

a. Article 240
b. Article 280
c. Article 255
d. Article 263

Answer. d

46. Article 275 provides information on:

a. Grants from the Union to States
b. Inter State Council

¢. Governor

d. Prime Minister

Answer. a

47. Appointment of District Judge is done by:

a. Governor

b. Speaker

¢. Chairman

d. Chief Minister

Answer. a

48. Legal Services Authority Act was passed in the year:

a. 1989
b. 1967
c. 1987
d. 1947

Answer. ¢

49. The rate at which the central bank of a country borrows money from commercial banks within the country is called:

a. Repo Rate

b. Reverse Repo Rate



¢. GDP
d. Fiscal Deficit

Answer. b

50. Which of the following banks is not included in Systematically Important Banks ?

a. SBI

b. HDFC
c. ICICI
d. PNB

Answer. d

51. Which district has the highest poverty rate in Maharashtra?

a. Nandurbar
b. Mumbai
¢. Nasik

d. Yavatmal

Answer. a

52. Which of the following is a lead agency for education for sustainable development?

a. Brundtland Comission
b. UNICEF

c. UNDP

d. UNESCO

Answer. d

53. Which of the following is not a sustainable development goal?

a. Gender equality

b. No Poverty

¢. Protection of ozone layer
d. Life below water

Answer. ¢

54. Which of the following is not a pillar of sustainability?

a. Space

b. Social responsibility
¢. Environment

d. Economic

Answer. a



55. Sustainable development goals have to be achieved by:

a.2030
b. 2040
¢. 2050
d. 2045

Answer. a

56. How many SDGs are set in the 2023 agenda?

a. 16

Answer. ¢

57. Where was the headquarters of the United Nations Development Programme?

a. Paris

b. New York
¢. Tokyo

d. Canada

Answer. b

58. Which was the first company to get RBI's permission to open white label ATM?

a. Housing Development Finance Corporation(HDFC)

b. Muthoot Finance

¢. Srei Finance

d. Tata Communications Payment Solutions Limited (TCPSL)

Answer. d

59. What is the minimum eligible age for joining the Atal Pension Yojana?

a. 16

Answer. ¢

60. What is the maximum amount of Mudra loan in SBI?

a. 10 Lakh

b. 5 Lakh



¢. 20 Lakh
d. 25 Lakh

Answer. a

61. Light year is a unit of which of the following physical sign?

a. Mass
b. Work
c. Distance
d. Time

Answer. ¢

62. The small hole in the middle of the iris is called?

a. Pupil

b. Blood plate
c. Retina

d. Frontend

Answer. a

63. The current flowing in one direction is called :

a. Alternating Current
b. Induced Current

¢. Direct Current

d. Tonic Current

Answer. ¢

64. Rockets work on the principle of:

a. Newton’s First Law

b. Newton’s Second Law
¢. Newton’s Third Law
d. Archimedes Principle

Answer. ¢

65. Which of the following is not a noble gas?

a. Helium
b. Argon

c. Hydrogen
d. Neon

Answer. ¢



66. What is the chemical name of baking soda?

a. Sodium hydroxide
b. Sodium bicarbonate
¢. Sodium chloride

d. Calcium sulphate

Answer. b

67. The number of moles of solute present in 1 kg of a solvent is called its:

a. Molality

b. Molarity

¢. Normality

d. Reduced Mass

Answer. a

68. The maximum number of isomers for an alkene with molecular formula C4H8 is:

d. 6

Answer. d

69. The inherited traits of an organism are controlled by which of the following?

a. DNA

b. RNA

¢. Enzyme

d. Nucleotide

Answer. a

70. Plants receive their nutrients mainly from:

a. Chlorophyll
b. Sunlight

¢. Atmosphere
d. Soil

Answer. d

71. Ptyalin is an enzyme produced in the:

a. Pituitary glands

b. Salivary glands



¢. Thyroid glands
d. Pancreas

Answer. b

72. Plants developing in dry conditions are:

a. Xerophytes

b. Mesophytes

c. Lithophytes

d. Hydrophytes

Answer. a

73. Night blindness is caused by the deficiency of:

a. Vitamin B
b. Vitamin A
¢. Vitamin K
d. Vitamin C

Answer. b

74. At the end of a business conference, the 11 people present all shake hands with each other once. How many handshakes will there be altogether?

a. 55

Answer. a

75. What is the value of x? 3x + 2y = 10 4x + 6y = 12

a.3.5
b. 4.2
c. 3.6
d.4.3

Answer. ¢

76. The total age of five kids in a family is 28 years. What will be the total of their ages after five years?

a. 50

Answer. d



77. Simplify: 123 -19 x 2+ 12

a.97

Answer. a

78. The population of the city is 198268. Out of them 45212 are women and 24678 are men. Find the number of children in the city.

a. 128368
b. 128378
c. 129379
d. 129388

Answer. b

79. Find out the sign to be interchanged to make the following equation correct. 5+3*4+6 = 11

a. subtract
b. multiply
c. addition
d. It is correct, No change

Answer. ¢

80. The salary of Gauri for five months is Rs. 9950. Find her monthly salary.

a. 1995
b. 1980
¢. 1990
d. 1920

Answer. ¢

81. Ganesh ran 30 laps every day for 5 days. How many laps did he run in all?
a. 120

b. 130

c.6

d. 150

Answer. d

82. 55 is what percent of 500?

a. 11



c 12
d. 14

Answer. a

83. If a number is divided by 6, then 8 is subtracted, the result is 0. What is the number?

a. 63

Answer. b

84. A car travels 320 miles in 4 hours. What is its average speed?

a.70
b. 60
¢. 50
d. 80

Answer. d

85. If the area of a rectangle is 120 square units and its length is 12 units, what is its width?

a. 10

Answer. a

86. What is the average of the numbers 28, 25, and 40?

a. 31

Answer. a

87. If the sum of three consecutive even numbers is 78, what is the largest number?

a.28

Answer. a



88. Which scheme launched by the power ministry to provide LED bulb at cheap prices?

a. ATAL Jyoti
b. Gram Ujala
c¢. SAUBHAGYA
d. BHIM Jyoti

Answer. b

89. What is the maximum age for Sukanya samriddhi Yojana for a girl?

a. 10

Answer. a

90. When was the MGNREGA scheme launched?

a. 30/Jun/1905
b. 2/0ct/2005
c. 2/Feb/2006
d. 2/Oct/2015

Answer. ¢

91. Which country has never been under a military or dictator’s rule?

a. Chile

b. Myanmar
¢. Poland

d. Mexico

Answer. d

92. What kind of triangle is it if the angles are 30 degrees, 60 degrees, and 90 degrees?

a. Right-angled

b. Scalene

¢. Isosceles

d. Equilateral

Answer. a

93. Find the missing number in the series: 4, 9, 16, ?, 36.

a.22



c. 24
d. 25

Answer. d

94. Find out the wrong term in the series: 10, 14, 28, 32, 64, 68, 132

a.28
b. 32
c. 64
d. 132

Answer. d

95. If POND=RSTL HEAR=?

a. GHIJ
b. GHIZ
c. JIGZ

d.JCLZ

Answer. ¢

96. If 8% of A is same as 4% of B, then 20% of A is same as:

a.10% of B
b. 16% of B
c. 80% of B
d. 50% of B

Answer. a

97. If the side of an equilateral triangle is decreased by 30% its area is decreased by:

a.0.51
b. 0.49
c. 0.47
d. 0.52

Answer. a

98. The smallest prime number is:

d.3

Answer. ¢



99. Find the error: Innovation plays(1) a key role for introducing(2) novelty to(3) existing products.(4)

d. 4

Answer. b

100. Select the alternative which is closest to the meaning of the idiom. 'Smell a rat'

a. To act unfairly

b. To talk boastfully

c. To have a reason to suspect
d. To do something useless

Answer. ¢
Test Question Language:- HINDI

1. IERIEA IFR URHHT a1 Hol-V St g& ar?

a. TEEH BUTeT
b. Rz Hdl
c. 3dl 7Y
d. 3RN® g

Answer. a

2. Reaiiadt wds WBR fAUTT Rt BRuar B AT Ui 3?

a. SIRES
b. ASRTY
¢. IW W
d. 3H

Answer. b

3. YRAd ufgeh Saa-39R FAfdes 99 Wi EiV 22 3 3RY FRUad S

a.qo

b. 4ss

c. IR
d. SrRradt

Answer. b

4. TUN A1 SENAAIE! U PO SRMATS S-S TiH SHTRTH & Fad 3HR?



a. 07
b. &
¢. HRd
d. F¥mTd

Answer. d

5. YRAW TRRA THE 1003 USH HIUA WS Sidha?

a. iear fpdbe
b. HfgaEl Hagl
¢. A Fsfie
d. mfga gt

Answer. b

6. g Teu Qe SIBNRY 3B TS HEMN fhdl wie 3?

a. 715 foet
b. 711 fa+t
c. 701 fopedt
d. 731 foeft

Answer. ¢

7. afgd T domsiarid TeRIMG Aae! e sead fFd gaad aifa Hat At emg?

a.0.25
b. 0.15
c. 0.35
d. 0.5

Answer. d

8. Uil feaw Ry faF WU AoRT Bafl SArdl?

al®

b. 1 7
c. 19a
d. 1 o

Answer. a

9, TRTST U o Hivrn feasft TRt e At

a. 15 tfia

b. 27 Bgart
¢. 30 SAarst

d. 26 7



Answer. b

10. YRAT 3fcRres GRee FRY g SAR@HE Y IHURS SIUR 3T

a. TUATTE
b. ST
c. e g
d. TP

Answer. ¢

11. & A fciibed o Temdia s fRa e om?

a. &

b. Hiles

. F
d.

Answer. b

12. 20233 G Aled URAING HUTer YgH HRUard e

a. GR by

b. IEET HIH
¢. Ffgar M
d. el fsifew

Answer. ¢

13. GgAed SR TATSTT R Bt Heit?

a. TS &
b. HAERE Hot
c. gy enik
d. RS TrIg

Answer. a

14. 3 hgariar IEEA-fRI sigia SN "IrEEe T d6" Sivarearard Had-HRAT gXdies YHRal gidl of JY Sfiford el I

a. AR
b. feweit
c. Hwd
d. aryoRdt

Answer. ¢

15. TRATIST BV R TITT BEHT SHeia-Tedl S TERIERIT JAwg Ag@qyl &g F7a?



a. g0
b. ATfRI®
¢. AN
d. SR

Answer. d

16. ST=ht a7 GG AERTEHE HIURAT Tl bafl Fe:

a. 1930
b. 1949
c. 1922
d. 1915

Answer. a

17. 193201 QAT GRRIGR HIUT WIgRt dwett:

a. 1. & IR fesH
b. v R

¢. SATERAd A
d. IS5 gETg

Answer. a

18. 9 JAWE Wieledd! ST Werd hall ar?

a. PR
b. AR

¢. TRER
d. SRR

Answer. b

19. ¥ HiAdGd JaAFT Hol & Fa:

a. WER Sfora R
b. & Sgfe

¢. RorRE Aga
d. SRS =y

Answer. ¢

20. TREHE AT URTHT RITAT SOt HaAr?

a. fF e TMieR ARaR
b. 99y 1 i
c. sffora R

d. wma R



Answer. a

21. STEE FHIOR YA SN & Har?

a. 39 Agdl
b. "R g™
c. AT e

d. PR e

Answer. a

22. Bfge fARE dHgaR S SIon fJunTa afay & Ta?

a. faumm A
b. faum B
c.fumr C
d. faym D

Answer. a

23. gSWrEl XNY YYH HION ATGEr:

a. 3AAHE 9y
b. T St AYHER
c. 3R & Feif

d. a1 I e

Answer. d

24, RrarcRaren arTar H1 TUIdTd:

a. Ui

b. Tt

€. IR
d. Rracra

Answer. b

25, TRy fodt i) emga?

a.23

Answer. b

26. TERIYE IO AAGRYY b Smga?



Answer. ¢

27, ANTR RIERIE SRE SfieEd i

a. HRA 3fia TR
b. HRAE T TR
¢. URTE FB TR
d. YRR THEE TER

Answer. b

28. FTGFBIIR FERIPKIA Fafd a1 fieeT Wieliaia! Hiomr smg?

a. o
b. 3GHGTR
c. TR&

d. SR

Answer. b

29. BT Td Hiorn 3wl Fwn Tdve Aea?

a. gIdRT

b. BTG

C. P[S
d. TEESR

Answer. ¢

30. Wreliats! HIv Meladd Jdid de T 3MR?

a. SR

b. HTSa

C. haH

d. vmrfgdr (G-9)

Answer. d

31. TERIPIA TUR daleR Wieadst HHe Fafr a2

a. ferdt

b. I
¢. SarargEt
d. you



Answer. b

32. TrEaue! B fregnd sat g ool Ra sga?

a. Sa3id
b. TR
¢. AR
d. gor

Answer. d

33. % MeRYMde gaid Hieal el daRdiie! T 3R

a. SIHIG
b. AETEER
c. Aomaet
d. sfferamT

Answer. a

34, YRAIT U I8 IR Foif RfdAED smareir eme?

a. ANH

b. ToRId
€. XTSI

d. e

Answer. ¢

35. Wreliate! HIv IEE I T Sae Rd Iie?

a. gyal IS IIH
b. AFY AT I
c. fom wrde W S
d. 7a1 3@ gl SEE

Answer. d

36. YR TN Jaid HISl IdEH 3MR:

a. BIYH
b. dm
¢. diged
d. T8l

Answer. b

37. AergE SR TR T 1 9 RO 31l



a. 1960
b. 1999
c. 1971
d. 1947

Answer. ¢

38. HeRIyMe afd UyH JIPUG IAeide BT TR HRUGNT ATaAT?

a. 1974
b. 1980
c. 1995
d. 1989

Answer. b

39. TUgad Y [Ram uRueHe fFdt SRmht gew sed?

Answer. ¢

40. 45g S =TTl ufted ARRer ger R S g

a. Yo Hifed X
b. gt € TS

. T8 . Plaar
d. goaT a6 AR

Answer. d

41. TeRIyR faemm Ui HeREd® BIur Sed?

a. IR 45
b. ¥ S
c. Jarr "/
d. gHq el

Answer. a

42. TeRTy faym uRuened Ried Jewiad! umEd S 3mg?

a, AEREM 7 98 farh sd wifew

b. 3T 45 fbar e SR S Ui

¢. HRATET AR, ol e AaeR S AFfeeed R sad ufie
d. YR TsRmeE 5 a¥ Yar Had o e



Answer. ¢

43, TgRIyHe fbdt Rieer uRwer smea?

Answer. ¢

44, ST 3G T fayF uRueen simefifasht mifgdt <?

a. 3g=e 155
b. 3=e 182
¢. DS 130
d. =g 100

Answer. b

45. PN ATDEHD 3MR-IoT IRTLAIST RS FHIAT Ra?

a. 3J®e 240
b. 3f=e 280
¢. ITDe 255
d. 325 263

Answer. d

46. 3= 275 arfawdt g

a. FeTHg IS S
b. TR aRwE

¢. Isgurd

d. Gauy

Answer. a

47. fSregT —amanehri=h fAgedt aragR Feh S

a. JsauTd
b. UG

c. g
d. gereE

Answer. a

48. faet Jar wfdaRor Fraer a1 off TR Har Aa:



a. 1989
b. 1967
c. 1987
d. 1947

Answer. ¢

49, I3 Tadl §6 JEHT IR dHiEgT ST WM Bl 9 AT B WU

a X ¥

b. Reed W e
c. S

d. fo<itg qe

Answer. b

50. et B dF Juies Aeay SHiHed FHIfAy AR

a. Tqeiem

b. TorEiTmt

c. STEaHsm
d. digsit

Answer. d

51. R Hivar M) Faffte i R emg?

a. FgRaR
b. 4ss

c. RS

d. 9T

Answer. a

52. WAaU®! B Myd faermaSt Rieordt e ygE gwi emg?

a. seds e
b. gAR%
c. qESd
d. Tt

Answer. d

53. @it SR TE Wyd faerg IRF -

a. fefTT FAr
b. e fAdae
c. 3T W Wef
d. UTogrTetiel Sfte



Answer. ¢

54, TITAUD! B A TH SMYRTY K2

a. RS
b. GHIS SSEER!
¢. TR
d. i

Answer. a

55. Tmyd faerrh 3P a1 avfodd ura Felt wiSa:

a.2030
b. 2040
¢. 2050
d. 2045

Answer. a

56. 2023 = FRIGATSD fFdt SDG Feffa T smea?

Answer. ¢

57. Gy I R SHHIR g $1 ga?

a. Uk
b. Zgaih
c. cifear
d. 81

Answer. b

58. g d9d ATM IUSTINIE! RS Wart frequrt ufeet du-t Siord grdt?

a. FTHRA SHATHE BRI HIURRH(HDFC)

b. Ty BRI

c. 4l B

d. T BT T QiR fdffies (TCPSL)

Answer. d

59. 3cd URM dioHd FeHRT FIvaNS! fhuH U 9U o 3Me?



Answer. ¢

60. SBI Hell TgT hoitell SOl g H Bra 38?2

a. 10 T
b. 5 @@
¢. 20 9™
d. 25 T

Answer. a

61. Y1 a¥ § Wieha wivrn Hifds fae™ gfie sm?

a. &AM
b. ®™
¢. 3@

d. 3=

Answer. ¢

62. SIATAT STgTAT HAHRT ¥ciedl Y&r fosren s woard?

2, §D
b. TS @
c. e

4.7 TS

Answer. a

63. T1 feRM areToT= fagqd UaTeTen S WUEId:

a. 3eexAfeT faggd vare
b. 335 fIgga warE
c. SR fgga warg
d. smafie faggd varg

Answer. ¢

64. AFTH T TATR $TH HRA:

a. g1 uigen Faw
b. e guv1 g
¢. e fawr |
d. snfHfafes a@



Answer. ¢

65. AT HIUT T Aad arg, TG

a. gferm

b. 3R

¢. aSeH
d. Fsi

Answer. ¢

66. 3BT Viear ARG T B AR?

a. DfETn gOgrRIES
b. Qifeqq Ir@EHe

c. QT RS
d. Bk gelbe

Answer. b

67. 1fFar sraummed) IJufd srced fagrer= Miar We B ard:

a. T
b. FeiRE
c. R
d. & g aRgEE

Answer. a

68. 3Mf0aw G¥ C4HS el Seh-uId! SMOUHRT HHIE TE:

d. 6

Answer. d

69. TETE Siaren dRie Ui Welidiet HRMgR FEF0r Ha wa?

a. feTTT

b. 3RTTT

c. TEEH

d. FfFeieres

Answer. a

70. TTRUSHT A Ui dd WM A fHedra:



a. FTRIMGA
b. GBI

¢. gaTaRTl
d. Arit

Answer. d

71. TRRE § U6 TEEH o o JY Fmior g

a. faeged wdt
b. dres Tt
c. URRTES T
d. wrgfts

Answer. b

72. B RS fAeRa S gt o

a. RRieey
b. BEGRECY
c. Riewrey
d. FEgImrReH

Answer. a

73. AATYSYUN T HHRAGS Biall:

a. f&fi B
b. fegdfiA A
c. fefim K
d. fegfim C

Answer. b

74, TGS URYGT RN, U4 IURRY SRidted 11 Aidi-t THAHg Uhal swiged b, i} Tepu e ad fdt gwdieran amd?

Answer. a

75. x3 g fobedt 3MR? 3x + 2y = 10 4x + 6y = 12

a.3.5
b. 4.2
c. 3.6

d. 4.3



Answer. ¢

76. TP PeaKie Urd Gerredl qarE S 28 SR, U IR I aaE e 1 Sa?

a. 50

Answer. d

77. BB BT 123 - 19 x 2+ 12

a.97

Answer. a

78. THT TG GG 198268 3R, AMMDT 45212 a1 Reram ofdr 24678 TEW 3Med. TR RMdId Gard Tear =i,

a. 128368
b. 128378
c. 129379
d. 129388

Answer. b

79. WIeid THHRO A7 STUERITS AR IO fog sigaeed da uifest O e 5+3*4+6 =11

a. 9o forg

b. TSR e

. 3 frg

d. d IR e, DU gadl Teb!

Answer. ¢

80. RN U AT TR 3. 9950 3asT . R o= Ak TR &1 3R,

a. 1995
b. 1980
¢. 1990
d. 1920

Answer. ¢

81. O TR 30 B O 5 feaw urgen. O TR et W= wraen?



a. 120
b. 130
c.6

d. 150

Answer. d

82. 55 U 5009 farelt ab?

a. 11

Answer. a

83. SR TEE T&IAT 64 T, AR @M 8 I Hel, R IR 0 Adl. of T I 3782

a. 63

Answer. b

84. TP $R 4 d9Gid 320 B Ya B, fael W) a7 B 3R?

a. 70

Answer. d

85. U1 MR &A% 120 9RY e 3Me ST It dfeh 12 gfHe oM. R Il ¥t F19 3me?

a. 10

Answer. a

86. 28, 25, 3T 40T WRR T 1 38?2

a. 31



Answer. a

87. SR dF gorT g9 GEri SHiW 78 3R, R Jdid gafd Hid G B e

a. 28

Answer. a

88. LED S WX fuedia QRavarand! Suf araagR Siorh dien g Felt d?

a. 3T
b. T IS
c. g

d. s s

Answer. b

89. YHT W< TSRS Gl HHG 90 B 3 TR

Answer. a

90. AT ST FRT & Helt Aad?

a. 30 1905
b. 2 3ffFISR 2005

¢. 2 Bgart 2006
d. 2 sffFErsR 2015

Answer. ¢

91. P <X FHF THY fhaT gHARMG! gHATGRET Aogar?

a.
b. AR
c. dids
d. Afee!

Answer. d

92. SR B 30 3/, 60 3= 3 90 Y AT TR ol PV YbRal BbIo 3MR?



a. PIEHH

b. faways Hro
c. gafgys Bt
d. TS @i

Answer. a

93, HIfedpdie TgTes AT Je: 4, 9, 16, 2, 36.

a.22

Answer. d

94, HIfddbdia gatal T@ =em: 10, 14, 28, 32, 64, 68, 132

a.28
b. 32
c. 64
d. 132

Answer. d

95. SR POND=RSTL HEAR=?

a. GHIJ
b. GHIZ
c. JIGZ

d.JCLZ

Answer. ¢

96. %R AT 8% T BE 4% T0M 3Med @R AT 20% § Bam farcdt w0M sradiien:

a. B3I 10%
b. B 16%
c. B3 80%
d. B 50%

Answer. a

97. %R TP TAYS AB I 30% 7 T Fot R AR e frdia FH B

a.0.51
b. 0.49
c. 0.47

d. 0.52



1. (a)

11. (b)
21. (a)
31.(b)
41. (a)
51. (a)
61. (c)
71. (b)
81.(d)
91. (d)

Answer. a

98. ¥afq TeM H® T BU:

c.?2
d.3

Answer. ¢

99. g TNYT: AaTal(1) URFIT FFA vame) He@rd YEPT Sorad(2) $ifhHadi(3) S SaeAae.(4)

d. 4

Answer. b

100. 9 T ¥ 7 qIRERMET gaid Sigesdn o syaer yafa Fast

a. SRR et HRO!

b. TaH Sqor

¢. U YU HROT SO0

d. R FRds F=or

Answer. ¢

Test Answer

2. (b) 3.(b) 4. (d) 5. (b) 6. (c)
12. (c) 13. (a) 14. (¢) 15. (d) 16. (a)
22.(a) 23. (d) 24. (b) 25. (b) 26. (c)
32.(d) 33.(a) 34. (c) 35.(d) 36. (b)
42.(c) 43. () 44. (b) 45. (d) 46. (a)
52.(d) 53. (c) 54. (a) 55. (a) 56. (c)
62. (a) 63. (c) 64. (c) 65. (c) 66. (b)
72. (a) 73. (b) 74. (a) 75. () 76. (d)
82. (a) 83. (b) 84. (d) 85. (a) 86. (a)
92. (a) 93. (d) 94. (d) 95. (c) 96. (a)

7. (d)

17. (a)
27. (b)
37.(c)
47. (a)
57. (b)
67. (a)
77. (a)
87. (a)
97. (a)

8. (a)

18. (b)
28. (b)
38. (b)
48. (c)
58. (d)
68. (d)
78. (b)
88. (b)
98. (c)

9. (b)

19. (c)
29.(c)
39.(c)
49. (b)
59. (c)
69. (a)
79. (¢)
89. (a)
99. (b)

10. (¢)
20. (2)
30. (d)
40. (d)
50. (d)
60. (2)
70. (d)
80. (c)
90. (c)
100. (c)



